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1. Product A and B formed in the following reactions are reactively , 

A. 

B. 

C. 

D. 

Answer: A

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7kBQFs20sjPR


View Text Solution

2. The increasing order of nitration of the following compounds is : 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(A) < (B) < (D) < (C)

(A) < (B) < (C) < (D)

(B) < (A) < (C) < (D)

(B) < (A) < (D) < (C)

3. Which of the following compounds will give significant amount of

meta- product during mononitration reaction?

A. 

https://dl.doubtnut.com/l/_7kBQFs20sjPR
https://dl.doubtnut.com/l/_ZMpCC60em5dF
https://dl.doubtnut.com/l/_vhQNcaOSnGq7


B. 

C. 

D. 

Answer: C

Watch Video Solution

4. The test to distinguish primary, secondary and tertiary amine is

A. Sandmeyer's reaction

B. Carbylamine reaction

C. Mustard oil test

D. 

Answer: D

Watch Video Solution

C6H5SO2Cl

https://dl.doubtnut.com/l/_vhQNcaOSnGq7
https://dl.doubtnut.com/l/_Zck00DtHxliC
https://dl.doubtnut.com/l/_LePnmuzDEIeP


5. Fluorination of an aromatic ring is easily accompolished by treating a

diazonium salt with . Which of the following conditions is correct

about this reaction ?

A. 

B. 

C. Only heat

D. 

Answer: C

Watch Video Solution

HBF4

NaF /Cu

Cu2O/H2O

NaNO2 /Cu

6. The ''N'' which does not contribute to the basicity for the compound is :

A. N9

B. N3

https://dl.doubtnut.com/l/_LePnmuzDEIeP
https://dl.doubtnut.com/l/_yRWQdV5mnGGb


C. N1

D. N7

Answer: A

View Text Solution

7. In the hoffmann-bromamide degradation reaction, the number of

moles of NaOH and  used per mole of amine produced are

A. Four moles of  and two moles of .

B. Two moles of  and Two mole of .

C. Four mole of  and one mole of .

D. one moles of  and one moles of .

Answer: C

Watch Video Solution

Br2

NaOH Br2

NaOH Br2

NaOH Br2

NaOH Br2

https://dl.doubtnut.com/l/_yRWQdV5mnGGb
https://dl.doubtnut.com/l/_Q45kL87NFI7I
https://dl.doubtnut.com/l/_shTepFPcV8a7


8. Arrange the following amines in the order of increasing basicity :-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

9. In the reaction 

 

the product E is :

A. 

B. 

C. 

https://dl.doubtnut.com/l/_shTepFPcV8a7
https://dl.doubtnut.com/l/_X00KnVDFPmOJ


D. 

Answer: A

View Text Solution

10. Complete reduction of benzene-diazonium chloride with Zn/HCl gives :

A. Aniline

B. Phenylhydrazine

C. Azobenzene

D. Hydrazobenzene

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_X00KnVDFPmOJ
https://dl.doubtnut.com/l/_4JICDK12VVyK


11. The final product formed when methylamine is treated with 

and HCl followed by hydrolysis is :

A. Diazomethane

B. Methylalcohol

C. Methylcyanide

D. Nitromethane

Answer: B

Watch Video Solution

NaNO2

12. In a set of reactions p - nitrotoluene yielded a product E. 

 

The product E would be :

A. 

B. 

https://dl.doubtnut.com/l/_NtbHS6O4EMNO
https://dl.doubtnut.com/l/_RzbxCVx3B74C


C. 

D. 

Answer: B

View Text Solution

13. Considering the basic strength of amines in aqueous solution, which

one has the smallest  value?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

pKb

(CH3)2NH

CH3NH2

(CH3)3N

C6H5NH2

https://dl.doubtnut.com/l/_RzbxCVx3B74C
https://dl.doubtnut.com/l/_2PWPGh3AcN5o


Exercise 1 Concept Builder Topicwise Topic 1 Amines And Amides

1. Which of the following arylamines will not form a diazonium salt on

reaction with sodium nitrite in hydrochloric acid?

A. m - Ethylaniline

B. p - Aminoacetophenone

C. 4 - Chloro - 2 - nitroaniline

D. N - Ethyl - 2 - methylaniline

Answer: D

Watch Video Solution

2.  

Product (B) in this reaction is :

A. 

https://dl.doubtnut.com/l/_yOtGjWQ2YG02
https://dl.doubtnut.com/l/_zPgA6B0wxjvq


B. 

C. 

D. 

Answer: B

View Text Solution

3. Which is the correct decreasing order of basic strength in aqueous

medium

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(CH3)3N, (CH3)2NH, CH3NH2  (in aprotic solvent)

C2H5NH2, (C2H5)2NH, (C2H5)3N   (in aprotic solvent)

CH3NH2, (CH3)2NH, (CH3)3N   (in protic solvent)

C2H5NH2, (C2H5)2NH, (C2H5)3N   (in protic solvent)

https://dl.doubtnut.com/l/_zPgA6B0wxjvq
https://dl.doubtnut.com/l/_1l1D2nq0go6m


4. The reagent that reacts with nitromethane to form methyl

hydroxylamine is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Zn/HCl

Zn/NH4Cl

Zn/NaOH

Zn/HCl

5. Conversion of benzene diazonium chloride to chloro benzene is an

example of which of the following reactions ?

A. Claisen

B. Friedel - craft

https://dl.doubtnut.com/l/_1l1D2nq0go6m
https://dl.doubtnut.com/l/_D7yqABH2mI1k
https://dl.doubtnut.com/l/_01qevIQitUuu


C. Sandmeyer

D. Wurtz

Answer: C

Watch Video Solution

6. Which of the following reagents will be useful to distinguish between 

A. Dilute 

B. 

C. 

D. 

Answer: C

View Text Solution

HCl

C6H5SO2Cl and OH − /H2O

HONO  then β −  naphthol

AgNO3  in H2O

https://dl.doubtnut.com/l/_01qevIQitUuu
https://dl.doubtnut.com/l/_tikjdhGO5477
https://dl.doubtnut.com/l/_ZutZGR1DX2VJ


7. Secondary amines could be prepared by

A. reduction of nitriles.

B. Hofmann bromamide reaction.

C. reduction of amides.

D. reduction of isonitriles.

Answer: D

Watch Video Solution

8. Which of the following statement is not correct

A. Methylamine is more basic than .

B. Amines form hydrogen bonds.

C. Ethylamine has higher boiling point than propane.

D. Dimethylamine is less basic than methylamine.

NH3

https://dl.doubtnut.com/l/_ZutZGR1DX2VJ
https://dl.doubtnut.com/l/_Jfp2cFCIoFGZ


Answer: D

Watch Video Solution

9. The strongest base among the following is

A. phenylmethanamine

B. N - methylmethanamine

C. ethanamine

D. methanamine

Answer: B

Watch Video Solution

10. Which of the following statement is false

A. Dimethylamine as well as trimethyl amine are solunle in water.

https://dl.doubtnut.com/l/_Jfp2cFCIoFGZ
https://dl.doubtnut.com/l/_ZYJbMwlIqDxg
https://dl.doubtnut.com/l/_IWRfBGxpglUP


B. Trimethylamine forms hydrogen bond neither with itself nor with

water.

C. Trimethylamine can acts as hydrogen bond acceptor only, while

dimethylamine can serve as both a hydrogen bond donor and

acceptor.

D. All the three statements are false.

Answer: B

Watch Video Solution

11. Which of the following reagents will convert p -

methylbenzenediazonium chloride into p - cresol?

A. Cu powder

B. 

C. 

H2O

H3PO2

https://dl.doubtnut.com/l/_IWRfBGxpglUP
https://dl.doubtnut.com/l/_lQI3OcTb7Is8


D. 

Answer: B

View Text Solution

C6H5OH

12. Benzamide on reaction with  gives.

A. aniline

B. chlorobenzene

C. benzylamine

D. benzonitrile

Answer: D

Watch Video Solution

POCl3

https://dl.doubtnut.com/l/_lQI3OcTb7Is8
https://dl.doubtnut.com/l/_OOQjrBajf3UR


13.  


The product (A) will be -

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

R − NH2 + CH3COCl
(excess)
−−−−→ A.

RNHCOCH3

RN(COCH3)2

R
+
N(COCH3)3Cl−

R − CONH3

14. Aniline is separated from a mixture by :

A. fractional crystallisation

B. fractional distillation

C. vacuum distillation

https://dl.doubtnut.com/l/_WnrTfErkSoGb
https://dl.doubtnut.com/l/_P1cUOLzCVVDt


D. steam distillation

Answer: D

View Text Solution

15. How many primary amines are possible for the formula 

A. 1

B. 3

C. 4

D. 2

Answer: C

Watch Video Solution

C4H11N

https://dl.doubtnut.com/l/_P1cUOLzCVVDt
https://dl.doubtnut.com/l/_eXB2Svaf08Y5


16. The conversion of acetophenone to acetanilide is best accompanied by

using :

A. Beckmann rearrangement

B. Curtius rearrangement

C. Lossen rearrangement

D. Hofmann rearrangement

Answer: A

Watch Video Solution

17. Azo dye is prepared by the coupling of phenol and:

A. diazonium chloride

B. o - nitroaniline

C. benzoic acid

D. chlorobenzene

https://dl.doubtnut.com/l/_oMxI8MQmazDr
https://dl.doubtnut.com/l/_Cdzu6wG5CAv8


Answer: A

Watch Video Solution

18. Aniline when treated with conc.  gives

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HNO3

19. Among the following the strongest base is

A. C6H5NH2

https://dl.doubtnut.com/l/_Cdzu6wG5CAv8
https://dl.doubtnut.com/l/_mwAqjRwpF0zF
https://dl.doubtnut.com/l/_YeoTDmo28H7t


B. 

C. 

D. 

Answer: D

Watch Video Solution

p − NO2C4NH2

m − NO2C6H4NH2

C6H5CH2NH2

20.  has how many isomeric forms that contain a benzene ring?

A. 4

B. 5

C. 6

D. 7

Answer: B

Watch Video Solution

C7H9N

https://dl.doubtnut.com/l/_YeoTDmo28H7t
https://dl.doubtnut.com/l/_9yBGv9PfWSjD
https://dl.doubtnut.com/l/_tfVtb1TaVxWT


21. Treatment of ammonia with excess of ethyl iodide will yield

A. diethylamine

B. ethylamine

C. triethylamine

D. tetraethylammonium iodide

Answer: D

Watch Video Solution

22. Which of the following gives primary amine on reduction?

A. 

B. 

C. 

D. 

CH3CH2NO2

CH3CH2 − O − N = O

C6H5N = NC6H5

CH3CH2NC

https://dl.doubtnut.com/l/_tfVtb1TaVxWT
https://dl.doubtnut.com/l/_dvi2POXoeTjT


Answer: A

Watch Video Solution

23. Which of the following reaction will not give primary amine ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CONH2

Br2 / KOH

−−−−−−→

CH3Cn
LiAlH4

−−−→

CH3NC
LiAlH4

−−−→

CH3CONH2
LiAlH4

−−−→

24. Which is formed when  is heated ?

A. 

(CH3)4NOH

CH3NH2

https://dl.doubtnut.com/l/_dvi2POXoeTjT
https://dl.doubtnut.com/l/_GapxqdjoXU9d
https://dl.doubtnut.com/l/_dlwyOoIrz7QB


B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H5NH2

(CH3)3N

(CH2)3N

25. The correct order of increasing basicity in aqueous solution is

A. 

B. 

C. 

D. None of the above

Answer: B

View Text Solution

NH3 < C6H5NH2 < (C2H5)2NH < C2H5NH2 < (C2H5)3N

C6H5NH2 < NH3 < (C2H5)3N < C2H5NH2 < (C2H5)2NH

C6H5NH2 < NH3 < C2H5NH2(C2H5)3N < (C2H5)2NH

https://dl.doubtnut.com/l/_dlwyOoIrz7QB
https://dl.doubtnut.com/l/_HK963u3GMq0a
https://dl.doubtnut.com/l/_N4XH3EVLcCoy


26.  


 in the above reaction sequence is .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CH2Cl
NaCN
−−−→ X

Ni / H2

−−−→ Y
Acetic

−−−−−→
anhydride

Z

Z

CH3CH2CH2NHCOCH3

CH3CH2CH2NH2

CH3CH2CH2CONHCH3

CH3CH2CH2CONHCOCH3

27. In the diazotisation of anline with sodium nitrite and hydrochloride

acid, an excess of hydrochloric acid is used primarily to

A. supress the concentration of free aniline available for coupling.

B. supress hydrolysis of phenol.

C. ensure a stoichiometric amount of nitrous acid.

https://dl.doubtnut.com/l/_N4XH3EVLcCoy
https://dl.doubtnut.com/l/_my2YALNsqQsy


D. neutralise the base liberated.

Answer: A

Watch Video Solution

28. Aniline reacts with excess of phosgene and KOH to form :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_my2YALNsqQsy
https://dl.doubtnut.com/l/_4B39H3D1R4CP


29. Primary amines on heating with  followed by excess of mercuric

chloride yields isothiocyanate. The reaction is called

A. Hofmann mustard oil reaction

B. Perkin reaction

C. Fries reaction

D. Diels - Alder reaction

Answer: A

Watch Video Solution

CS2

30. When benzene diazonium chloride is treated with cuprous chloride in

HCI. Chlorobenzene is formed . This reaction is called :

A. Gattermann reaction

B. Perkin reaction

C. Etard reaction

https://dl.doubtnut.com/l/_0RpfGkGhE8cK
https://dl.doubtnut.com/l/_t7QcyxkUdY5c


D. Sandmeyer reaction

Answer: D

Watch Video Solution

31. The indicator that is obtained by coupling the diazonium salt of

sulphanilic acid with N, N-dimethylaniline is

A. phenanthroline

B. methyl orange

C. methyl red

D. phenophthalein

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_t7QcyxkUdY5c
https://dl.doubtnut.com/l/_t2pO0bp3yA95


32. In a reaction of aniline a coloured product C was obtained. 

 

The structure of C would be :

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

33.  

The alkene formed as a major product in the above elimination reaction is

A. 

B. 

https://dl.doubtnut.com/l/_7JmVuMh1lGy8
https://dl.doubtnut.com/l/_qvFpK3LxZiAM


C. 

D. 

Answer: D

View Text Solution

CH2 = CH2

34. Predict about the relative boiling point of the following two amines. 

A. Boiling point of .

B. Boiling point of 

C. Both should have equal boiling points.

D. It can't be predicted.

Answer: B

View Text Solution

I > II

II > I.

https://dl.doubtnut.com/l/_qvFpK3LxZiAM
https://dl.doubtnut.com/l/_GKvnsALiNsTn
https://dl.doubtnut.com/l/_HyPYaTPIbaBB


35. Identify Z in the following sequence of reactions - 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3COONH4
Δ

−−→ X
P2O5

−−→ Y
H2

−−→ Z

∅

H

CH3 − CH2 − CO − NH2

CH3 − CN

(CH3CO)2

CH3 − COOH

36. Which of the following will produce isopropyl amine - 

(I)  


(II)  


(III)  


(IV) 

A. I, II

(CH3)2CO
NH2OH
−−−−→ X

LiAlH4

−−−→

CH3 − CH2 − CHO
NH3

−−→
heat

X
LiAlH4

−−−→

(CH3)2CH − OH + PCl5 → X
NH3

−−→

CH3 − CH2 − CH2 − NH2
heat
−−→

https://dl.doubtnut.com/l/_HyPYaTPIbaBB
https://dl.doubtnut.com/l/_jMw4tG2UvwUl


B. II, III

C. I, III

D. IV only

Answer: C

Watch Video Solution

37. In the following sequence of reactions, the compound C formed would

be 

A. 1, 1 - Dimethylethanol

B. Butanol - 1

C. Butanol - 2

D. 2 - Methyl - propanol - 1

Answer: A

CH3 − CH
|  

NH2

− CH3
HNO2

−−−→
H2O

A
[O ]

−−→ B
CH3MgI

−−−−−→
H + / H2O

C

https://dl.doubtnut.com/l/_jMw4tG2UvwUl
https://dl.doubtnut.com/l/_rTCo6pMnG4AD


Watch Video Solution

38. Among the following isomeric  amines, one having the lowest

boiling point

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

C4H11N

39. Which of the following does not give N - ethyl cyclopentylamine as

major product?

A. 

https://dl.doubtnut.com/l/_rTCo6pMnG4AD
https://dl.doubtnut.com/l/_R1f3DUEPpMZx
https://dl.doubtnut.com/l/_wfTvMZDB41Si


B. 

C. 

D. 

Answer: C

Watch Video Solution

40. Which of the following compounds is an enamine?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wfTvMZDB41Si
https://dl.doubtnut.com/l/_Je46ZcoJzHxY


41. Which of the following reaction will not given N, N - dimethyl

benzamide?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

42. A compound 'Z' reacts with three moles of  and gives a product

which on hydrolysis gives . Compound 'Z' is

A. 

B. 

C. 

CH3I

[(CH3)4N]
+

OH −

CH3NH2

(CH3)2NH

(CH3)3N

https://dl.doubtnut.com/l/_E6W5vleHcJ31
https://dl.doubtnut.com/l/_toDEd5SOk7P5


D. 

Answer: A

View Text Solution

(CH3)4

+
NCl−

43. The cyclobutyl methylamine with nitrous acid gives

A. 

B. 

C. 

D. All of these

Answer: D

https://dl.doubtnut.com/l/_toDEd5SOk7P5
https://dl.doubtnut.com/l/_MG6LzI6xccf8


Watch Video Solution

44. The correct order of decreasing basic character of the three aliphatic

primary amines is 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

I > II > III

III > II > I

I > II ≈ III

I = II ≡ III

45. Predict the possible number of alkenes and the main alkene in the

following reaction. 

https://dl.doubtnut.com/l/_MG6LzI6xccf8
https://dl.doubtnut.com/l/_BPQuQmpbLJZf
https://dl.doubtnut.com/l/_AJB0aZ2893QJ


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

3 and H2C = CH2

2 and H2C = CH2

46. 

A. 

B. 

C. 

D. None

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_AJB0aZ2893QJ
https://dl.doubtnut.com/l/_VvOIMgzMZhf5


Exercise 1 Concept Builder Topicwise Topic 2 Cyanides And Isocyanides

47. Which of the following reactions is appropriate for converting

acetamide to methamine?

A. Hoffmann Bromamide reaction

B. Stephens reaction

C. Gabriels phthalimide synthesis

D. Carbylamine reaction

Answer: A

Watch Video Solution

1. Reaction of ethyl amine with alkaline chloroform leads to the formation

of carbylamine reaction. This reaction involves the attack of an

electrophile on ethyl amine, the electrophile is

https://dl.doubtnut.com/l/_VvOIMgzMZhf5
https://dl.doubtnut.com/l/_5IYHIEsbjzRH
https://dl.doubtnut.com/l/_PrfIhUpmeNNn


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

H3O +

H +

RNH +
3

: CCl2

2. Ethyl isocyanide on hydrolysis in acidic medium generates:

A. propanoic acid and ammonium salt.

B. ethanoic acid and ammonium salt.

C. methylamine and ethanoic acid.

D. ethylamine and methanoic acid.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_PrfIhUpmeNNn
https://dl.doubtnut.com/l/_88V6upY9l2iQ


3. Methyl cyanide is less basic than methylamine because

A. there is a triple bond between carbon and nitrogen atoms.

B. molecular weight is higher than methylamine.

C. the lone pair of electrons in nitriles belongs to sp - orbital and lone

pair of electrons in amines belongs to  orbital.

D. None of these

Answer: C

View Text Solution

sp3 −

4. In the reaction,  X can be

A. 

B. 

R − C ≡ N + 4(H)
X

−−→ RCH2NH2

LiAlH4

H2SO4

https://dl.doubtnut.com/l/_88V6upY9l2iQ
https://dl.doubtnut.com/l/_UK7NchyMRMaR
https://dl.doubtnut.com/l/_0x19A1FDJpK2


C. 

D. 

Answer: A

Watch Video Solution

Ni

2KBr

5. Hydrolysis of phenyl isocyanide forms :

A. Benzoic acid

B. Formic acid

C. Acetic acid

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0x19A1FDJpK2
https://dl.doubtnut.com/l/_KAIejhev6OG9


6.  and  exhibit which type of isomerism

A. Position

B. Functional

C. Dextroisomerism

D. Position isomerism

Answer: B

Watch Video Solution

C6H5C ≡ N C6H5N ≡ C

7. Butanenitrile may be prepared by heating

A. propyl alcohol with 

B. butyl alcohol with 

C. butyl chloride with 

D. propyl chloride with 

KCN

KCN

KCN

KCN

https://dl.doubtnut.com/l/_jOHXLqM7ayb6
https://dl.doubtnut.com/l/_o0Bsv19TOQuA


Answer: D

Watch Video Solution

8. Consider the following sequence of reactions 

Compounds  The compound  is .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[A]
reduction
−−−−→ [B]

HNO2

−−−→ CH3CH2OH [A]

CH3CH2CN

CH3NO2

CH3NC

CH3CN

9. In the reaction  the products obtained are

https://dl.doubtnut.com/l/_o0Bsv19TOQuA
https://dl.doubtnut.com/l/_NzbeRU4wcNCb
https://dl.doubtnut.com/l/_mi6nAwZzcBfm


Exercise 1 Concept Builder Topicwise Topic 3 Concept Applicator

A. 

B. 

C. 

D. None of these

Answer: A

View Text Solution

1. Secondary nitro compounds when react with  forms crystalline

solids which one on treatment with  gives

A. 

B. 

C. 

HNO2

NaOH

CH3CH2NO2

CH3 − CH
|  

CH3

− CH2NO2

(CH3)2CHNO2

https://dl.doubtnut.com/l/_mi6nAwZzcBfm
https://dl.doubtnut.com/l/_bfTPMun88lsO


D. 

Answer: C

Watch Video Solution

(CH3)3CNO2

2. Acetanilide on nitration followed by alkaline hydrolysis mainly gives -

A. o - Nitroaniline

B. p - Nitroaniline

C. m - Nitroaniline

D. 2, 4, 6 - Trinitroaniline

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bfTPMun88lsO
https://dl.doubtnut.com/l/_OPq7p7KjVCcP


3. In the reaction : 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

SiC

H2SO4

KMnO4

NH4HS

4. Which of the following will be easily nitrated?

A. 

B. 

C. 

D. 

CH3NO2

C6H5NO2

https://dl.doubtnut.com/l/_73mT9XrXK64p
https://dl.doubtnut.com/l/_ajzq5HcebelG


Answer: A

View Text Solution

5. When notrobenzene is heated with fuming nitric acid in the presence

of fuming sulphuric acid for many hours the end product formed is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6. In the series of reaction 

, 
C6H5NH2

NaNO2 / HCl

−−−−−−−→
0 − 5 ∘ C

X
HNO2

−−−→
H2O

Y + N2 + HCl

https://dl.doubtnut.com/l/_ajzq5HcebelG
https://dl.doubtnut.com/l/_q424yZBRlscp
https://dl.doubtnut.com/l/_AVTz1vnQvtXS


X and Y are respectively

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C6H5 − N = N − C6H5, C6H5N +
2 Cl−

C6H5N +
2 Cl− , C6H5 − N = N − C6H5

C6H5N +
2 Cl− , C6H5NO2

C6H5NO2, C6H6

7. The consituent of the powerful explosive RDX is formed during the

nitration of

A. toluene

B. phenol

C. glycerol

D. urotropine

https://dl.doubtnut.com/l/_AVTz1vnQvtXS
https://dl.doubtnut.com/l/_R4aDSV7daBBu


Answer: D

View Text Solution

8. Tautomerism will be exhibited by

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(CH3)3NO

(CH3)2NH

R3CNO2

RCH2NO2

9. Nitrobenzene on electrolytic reduction is strongly acidic medium gives

A. aniline

https://dl.doubtnut.com/l/_R4aDSV7daBBu
https://dl.doubtnut.com/l/_E3sJvVV4dSUY
https://dl.doubtnut.com/l/_ole6qaZKZLwM


B. p - aminophenol

C. m - nitroaniline

D. nitrosobenzene

Answer: B

View Text Solution

10. Hydrolysis of  with 85%  gives 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CH2NO2 H2SO4 :

CH3CH2OH

C2H6

CH3CH = NOH

CH3COOH

https://dl.doubtnut.com/l/_ole6qaZKZLwM
https://dl.doubtnut.com/l/_aren1Jh3T2BE
https://dl.doubtnut.com/l/_c63ecI7v2gkN


11. Primary nitro compounds react with nitrous acid to form nitrolic acids

which dissolve in sodium hydroxide to give

A. yellow solution

B. blue solution

C. colourless solution

D. red solution

Answer: D

Watch Video Solution

12. Which of the following reactions is not feasible?

A. 

B. 

C. 

D. All the above are feasible

ICH2COOC2H5 + AgNO2
0 ∘ C

−−→
ether

O2NCH2COOC2H5 + AgI

(CH3)3CNH2
KMnO4

−−−−−−−−→
acetone + water

(CH3)3C − NO2

https://dl.doubtnut.com/l/_c63ecI7v2gkN
https://dl.doubtnut.com/l/_fRiC0uHWcABz


Exercise 2 Concept Applicator

Answer: C

Watch Video Solution

13. Dyamite is a mixture of :

A. Nitroglycerine  Saw dust.

B. Nitroglycerine  HCl.

C. Hydrogen bomb 

D. Glycerine .

Answer: A

Watch Video Solution

+

+

+H2SO4

+H2SO4

https://dl.doubtnut.com/l/_fRiC0uHWcABz
https://dl.doubtnut.com/l/_SnRZRundm7om


1. The major product of the reaction 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

2. Arrange the following compounds in order of increasing basic strength.

 


A. 

B. 

(weakest → strongest)

4 < 2 < 1 < 3

4 < 3 < 1 < 2

https://dl.doubtnut.com/l/_lRkFU75iW8RN
https://dl.doubtnut.com/l/_giT2LUIfUYM7


C. 

D. 

Answer: B

View Text Solution

4 < 1 < 3 < 2

2 < 1 < 3 < 4

3. Identify product C in the following reaction sequence : 

A. 

B. 

C. 

CH3

CH3

|  

C 
|  

CH3

− CH2CH2OH
K2Cr2O2 :H ( 2 ) SO4

−−−−−−−−−−−→
H2O ,  heat 

A
SOCl2
−−−→ B

( CH3 ) 2NH

−−−−−−→
(2 mol)

C

1. LiAlH4
diethyl ether
−−−−−−→

2. H2O

CH3

CH3

|  

CC
|  

CH3

H2C = N

CH3

CH3

|  

CH
|  

CH3

H2CH2N(CH3)2

     CH3  N(CH3)2

        |         |

CH3CCH2CHN(CH3)2

        |

     CH3

https://dl.doubtnut.com/l/_giT2LUIfUYM7
https://dl.doubtnut.com/l/_5oNe9JV1ToHQ


D. 

Answer: B

Watch Video Solution

     CH3

        |

CH3CCH2CHN(CH3)2

       |          |

    CH3   OH

4. Among the following compounds, the increasing order of their basic

strength is : 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

(I) < (II) < (IV ) < (III)

(I) < (II) < (III) < (IV )

(II) < (I) < (IV ) < (III)

(II) < (I) < (III) < (IV )

https://dl.doubtnut.com/l/_5oNe9JV1ToHQ
https://dl.doubtnut.com/l/_QJLc9yClhKGf


5. Z' in the following sequence of reactions is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C6H6

HNO3 / H2SO4

−−−−−−−−→
Δ

W
Zn / HCl

−−−−→ X
NaNO2

−−−−→
HCl

Y
H2 P O2

−−−−−→ Z

∅

H3

6. The product  obtained in the following sequence of reactions is 

A. 

B. 

−(C)

https://dl.doubtnut.com/l/_QJLc9yClhKGf
https://dl.doubtnut.com/l/_Kb6f3q0WWI95
https://dl.doubtnut.com/l/_mNOW8NVli1dY


C. 

D. None of these

Answer: C

View Text Solution

7. A compound A has a molecules formula . On tratement with 

 , A gives amine B which gives, carbylamine test. B upon

diazotisation and coupling with give an azo dye. A can be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C7H7NO

Br2 and KOH4

C6H5CONHCOCH3

C6H5CONH2

C6H5CONH2

o − , m − or p − C6H4(NH2)CHO

https://dl.doubtnut.com/l/_mNOW8NVli1dY
https://dl.doubtnut.com/l/_OIVBQFHb3SV2


8. 3, 5 - Dibromotoluene can be best synthesised by

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

9. Which of the following is the strongest base?

A. 

https://dl.doubtnut.com/l/_OIVBQFHb3SV2
https://dl.doubtnut.com/l/_fzVouNRNeM19
https://dl.doubtnut.com/l/_6YHCnddoT4er


B. 

C. 

D. 

Answer: B

Watch Video Solution

10. The relative order of basic character of the following compounds is 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

II > I > III > IV > V

II > III > IV > V > I

II > V > IV > I > II

II > IV > V > III > I

https://dl.doubtnut.com/l/_6YHCnddoT4er
https://dl.doubtnut.com/l/_UPeXNve1gbpG


11. Which of the following can undergo electrophilic substitution when

treated with nitrous acid at ?

A. 

B. 

C. 

D. None

Answer: C

Watch Video Solution

0∘ C

C6H5NH2

C6H5NHCH3

C6H5N(CH3)2

12. When aniline reacts with oil of bitter almonds 

condensation takes place and benzal derivative is formed This in knkown

as .

A. Million's base

(C6H5CHO)

https://dl.doubtnut.com/l/_UPeXNve1gbpG
https://dl.doubtnut.com/l/_vkrZ85Pp5IeV
https://dl.doubtnut.com/l/_G0kwfsaD2OZ3


B. Schiff's reagent

C. Schiff's base

D. Benedict's reagent

Answer: C

Watch Video Solution

13. Aniline is an activated system for electrophilic substitution The

compounds formed on heating aniline with acetic anhydride is .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_G0kwfsaD2OZ3
https://dl.doubtnut.com/l/_raFpI2UW4SuX


14. The final product C, obtained in this reaction 

 

would be

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

15. Aniline in a set of reaction yielded a product D. 

 

The strucutre of the product D would be :

https://dl.doubtnut.com/l/_raFpI2UW4SuX
https://dl.doubtnut.com/l/_XEGFaxEZJpbC
https://dl.doubtnut.com/l/_RJIoniQB9W9A


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

C6H5NHOH

C6H5NHCH2CH2

C6H5CH2NH2

C6H5CH2OH

16. The major organic product formed from the following reaction : 

A. 

B. 

C. 

D. 

Answer: B

https://dl.doubtnut.com/l/_RJIoniQB9W9A
https://dl.doubtnut.com/l/_J75XnS3rZyPS


View Text Solution

17. 

A. 

B. 

C. Both of these

D. None of these

Answer: B

View Text Solution

18.  

C (major product) is -

A. 

B. 

https://dl.doubtnut.com/l/_J75XnS3rZyPS
https://dl.doubtnut.com/l/_ZBV1AbVisM4o
https://dl.doubtnut.com/l/_hBYG54GWPtRf


C. 

D. None of these

Answer: C

View Text Solution

19.  

 


The basicity order of I, II and III is -

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(II)
( i ) LiAlH4

−−−−−−→
( ii ) H2O

III

III > I > II

I > II > III

III > II > I

II > III > I

https://dl.doubtnut.com/l/_hBYG54GWPtRf
https://dl.doubtnut.com/l/_ePTPSk0CAgDO


20. The correct stability order of the following resonance structures is 

 


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(I)H2C =
+
N =

−
N    (II)H2

+
C − N =

−
N

(III)H2

−
C −

+
N = N      (IV )H2

−
C − N =

+
N

(I) > (II) > (IV ) > (III)

(I) > (III) > (II) > (IV )

(II) > (I) > (III) > (IV )

(III) > (I) > (IV ) > (II)

21. The correct order of basicities of the following componds is 

 

2.  
CH3 − CH2 − NH2

https://dl.doubtnut.com/l/_ePTPSk0CAgDO
https://dl.doubtnut.com/l/_nyvrVtTFfxi1
https://dl.doubtnut.com/l/_VvJqC6Mx0irK


3.  


4. 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

(CH3)2NH

CH3 −

O

∣ ∣

C − NH2

2 > 1 > 3 > 4

1 > 3 > 2 > 4

3 > 1 > 2 > 4

1 > 2 > 3 > 4

22. In the reaction shown below, the major product(s) formed is/are 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_VvJqC6Mx0irK
https://dl.doubtnut.com/l/_rotUpZlOtSKN


D. 

Answer: A

View Text Solution

23. In the following reactions, the major product W is 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_rotUpZlOtSKN
https://dl.doubtnut.com/l/_vlQuql2mgcVU


24. In which of the following reaction cyanide will be obtained as a major

product?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ph −

O

∣ ∣

C − CH3
NH2 − NH2

−−−−−−→

Ph −

O

∣ ∣

C − NH2
NaOH
−−−→

Br2

Ph −

O

∣ ∣

C − NH2
P4O10
−−→

Ph −

O

∣ ∣

C − O − HSOCl2 →
NH3
−−→

25. Choose the appropriate product for this reaction 

 

A. 

B. 

1. LiAlH4  (excess)
−−−−−−−−−−−→

2. H2O+
 Product

https://dl.doubtnut.com/l/_o8kaD6wYzCvH
https://dl.doubtnut.com/l/_U1KCgYa0z4rX


C. 

D. 

Answer: B

View Text Solution

26.  

Product 'P' in the above reaction is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_U1KCgYa0z4rX
https://dl.doubtnut.com/l/_iOYt9UjSEdKp
https://dl.doubtnut.com/l/_2x4ezTwoTPVf


27. The following reaction is 

A. nucleophilic substitution

B. electrophilic substitution

C. free radical sbstitution

D. electrophilic addition

Answer: A

View Text Solution

28.  

In this reaction, [X] will be -

A. 

B. 

C. 

https://dl.doubtnut.com/l/_2x4ezTwoTPVf
https://dl.doubtnut.com/l/_bY79FiEN11tY


D. 

Answer: A

View Text Solution

29.  

 A will be :

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

+CH2 = CH − CH2 − CH2 − OH

CH2 = CH − CH
|  

CH3

− CH3

https://dl.doubtnut.com/l/_bY79FiEN11tY
https://dl.doubtnut.com/l/_bCSKf0ESnfbL


30.  

Z is

A. a single compound

B. a mixture of two compounds

C. a mixture of three compounds

D. a mixture of four compounds

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_3VeEUoEqHHrW

